oA TZR H

15 _ M
17 | EAmLRBEOHE .
]

MWDK Z < &

- -

RS )

— I

EmfE

BlmiEE---
MIEIZ2 289 TOABIL, EKEHOHO OHEIZELWG
27aX3=6n
—J7. MODOHMEIX, 22 X5=10x
K%mHO@H%@%Exﬁﬁb%E

)

T

ZAVE D R,
x5’ ><§=15:r: (cm %)
o

[EER(E--

x3"=9 n (cm2)
REEIL -

Fe s = As R EmAE L 0 |
157 +9 =247 (cm?)




B A TZH H A

14 4 gl
EXWLGREDE=

Al

(1)

1] GORO&SHEFKOEER. HEK. RER. KE
ETNTRROBEL,

10 cm

e - 3cm

2] EoRO&LSHBEEA 6 O=AREOEEE. AEHE. REHE. K
EEINTNROE I, Jr—

“dem
3 cm N

“5em

/
/

S Ry Ay
/

6 cm




B #HATZH A H

1% 4 4l
EXWLGREDE=

(2)

(1] EoRO&LSHEBOEEMN4cn, BEA8om DAEDEEE. BIEHE.
KA. AEEETNTARDEEL,

8 cm

—————

2] AORE, EEOXE3m, BROKSA12mD O
AT LVOEMETHS. ROFBVITEIBSL,
D BIFHOABOTLMAERDAZI,  12m

@ ZOMTWVOMIHEFEZRD RS,

Q@ ZOHTWORMBEZRDZL IV,




B A2 H

H H

14

EXMERPEOEE

(1)

Al

#H

1] BORO& S HEFKOEER. HEK. RER. KE

EENENROHET SN,

JEHEfSIE--5X3=15 (cm?)
TSI 10 X5 X2+ 10X 3X 2
=100-+60
=160 (cm?)
REFEIL - (EmfE) X2+l
=15%X2+160
=190 (cm?)
K FEEe ORER) X (\HX)
=15X%10
=150 (cm?)

10 cm

-- 3cm

HORD &S BESA6on D=AROEERE. AIEHE. REH.

EENETNRDE I,

JEmAEIT (Eil) X (&) +2
=3X4-+2 =6 (cm?)

M FEIL---6 X (3+44+5)
=6X12
=72 (cm?)

KL (EmEfE) X2+
=6X2+72
=12+72
=84 (cm?)

A ML (Emfd) X (§)
=6X6

=36 (cm?)

3 cm

6 cm

“5em




HBv#ATZR A H

1% £
EXWLGREDE=

Al

(2)

1] EoRO&LSHEROLEMN 4cn, HEA8om DMEDEEE. BIEHE.
REE. KBTI TNROLE I, -
EEHERE L X CER) 2 , —

x4 /\\_//
=16x (cm?)
MR- E TR S E 20 FoR I IFEmD
ME L ZE LW T, AN P -
8X (22X X4) N~
=8X8nx
=647 (cm?)
KImFEIE (KA X 2 +HlmmkE
=lbx X2 +64n
=327t +64 7
=96 (cm?)
A ML (Emfd) X (§3)
=167 X 8
=1287 (cm?)

2] EORIE. EEOHE 3. BHROREEH 12mD
ATVORBEHTHS, ROBVDIZEZLSL, 2
O BIETFKOABOTLAERDREN, 12 cm

B EROMOES LEGOMNEOE ST/

HELNOT, PLAEX ETHE, Al

X
2 X1I2X — =2 1 X 3
360

X =90 (f)
@ ZOHTWVORIEEEZ KDL IV,

) 90 )
7 X122 X %60 =36x (cm?)

@ ZOMTWVWOXREELRKDRI VY,
(Fmfg) = (Emfs) + (Wi L.
=1 X3%*°4+36x
=971 +36n
=457 (cm?)




